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abstract boolean break byte case
catch char class const continue
default do double else extends
false final finally float for
goto if implements import instanceof
int interfacelong native new
null package private protected public
return short static super switch
synchronized this throw throws transient
true try void volatile while
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« ofjefo] ZFof|A const?} goto= |oFEe] 9ot ARE

goto

const : 7|¥E final2 tjAlgicH
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@ ZI2%(primitive type)

28 | x2Y | 27|(byte) Q| 29
byte 1 -128 ~ 127
short 2 -32768 ~ 32767 _

May | int 4 |-231 ~ 27311 RIS B
long 8 -2763 ~ 2763-1
char 2 Wu0000" ~ SWuFFEF SYIE= 122
float 4 —3.40292347E38 ~

o +3.40292347E38 N,

0 e q ~1.79769313486231570E308 ~ emrET

+1.79769313486231570E308
=2|% | boolean 1 true T+ false Z = AA

@ X=Y(reference type)

Aze= A0 242 Zro 7 ML AplAe BE AYS Axgor HIgt
« String : EALS ARG SEYA
* Array : vj<

LIl 25 Fen

public class Test{
public static void main(String args[]){
int a =10, b = 010, ¢ = 0x10;

long d = 100L;
float e = 200.5F; //A 4= FL} f& 20{0Ft floatd (Y2 H doubleFO| E0] 23 HkAY)
char f = 65;

/Ay ALt
System.out.printin("10%14~ : " + a); //10Z14 1 10
System.out.printin("8%I<4= : " + b); //8%I£ 1 8
System.out.printin("16Rl4 : " + ¢); /116212 1 16
System.out.printin("Long : " + d): //Long : 100
System.out.printIn("Float : " + e); //Float : 200.5
System.out.printin("Char : " + f); //Char : A
System.out.printin("§4ZE : " + \UAC00'): //QUIE : 7t

}

<ok VP9l §UF =L “\uAC00’ |t} oI7]A, AC00S 167140t
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@ Java® CH++9j 5 ¢l S 2ol M o] ST ZRIHE 2[Hske 1HESH dlofolrh
® JavaScript, PHP ¥ Ruby+= AZHE <ojolr},
@ CH+e thd, eHzd, olexfz|el 22 AR x]H object—-oriented) L= 1] =4
< 71 dojojrt.

o Z2Iazial 90 — Java
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« FH[(ruby)= T4 & AARAG 2T HE ZrIHR dofot,

® ZZI2al o{of mjCiel L&

o4y Q1o C, Algol, Basic, PL/1, Pascal, FORTRAN, COBOL ‘&
TtAB 0{0] Lisp, Scheme, ML, Miranda, Haskell, FP, HOPE
=2|% 919 Prolog

ZHH|X|gFe 910] | Objective-C, Java, C#, Simula67, Smalltalk, C++, Python
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